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Quiz 2

o = i A

1-The point (-2, 5) lies on the ........ quadrant.
a) 1% b) 2 e} 3 d) 4"
JiThe point (... coume i ) lies on the 4™ quadrant.

a)(-2,5) b)(5,-2) ©)(3,-4) d) (4,5)
3- If the point (x , — x) lies on 2™ quadrant then x = .......
2) 0 b) 7 ¢) =11 d) 4

4- If the point (7 , b — 5) is located on the x — axis then ,b=.........
a)5 b) =5 )0 d) =7
5- (|x],4)= (3, y?) and the point (x , y) lies in the second quadrant then x

+ Y = s

a) 7 b) 1 ) —1 d) -7



Mskandeel2014@gmail.com Algebra Prep 3

H)If x={1,2,3},y=14{1,3,4,6,9} where R is relation from x
toy,aRbmeanb=3afora € x,b € y ,write R then represent by
arrow diagram ,

IS R a lunction? Write the domain, co domain and the rang?

.................................................................................
.................................................................................
.................................................................................
ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
---------------------------------------------------------------------------------
.................................................................................

---------------------------------------------------------------------------------

3)IfFX={5,3,1,0,-5,-3,-1}whereRisrelationonx ,aR
b mean b is additive inverse of a where a, b € X ,write R then
represent by arrow diagram IS R @ function? Write the domain, co
domain and the rang?

.................................................................................
.................................................................................
.................................................................................
---------------------------------------------------------------------------------
.................................................................................

---------------------------------------------------------------------------------
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4) Choose;
1) If n(x?) =16 ,50 n(x) = ....

a)4 b) 8 c)2 d)6
)X xY)=10,n(x)=2,s0 n(y) =....
a)4 b)3 c)2 d)5

HMfnx)=3,n(y)=5,s0n(XxY)=.....

a)3 b) 15 )5 d) 6
HXxP=.... ,nxxd)=....

a) @ b) 1 c)0 d)2
S)If x = {0} then x% = .......

a) {0} b) (0,0) ¢) {0,0} d)0

Olf (x—-y)xy={(1,2),(1,3)} ,n(xxXy)=6,

then n(x) =......
a) {3} b) 1 c)2 d)3

DI x={3},y={6}so:n(x Xy)=....
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a) 18 b) {18} )3 d) 6

8)If x = {7} ,50 n(x) = ....

a) 1 b) 7 c) 4 d) 6

NIf =xxy={1,3),(1,4),(5,3),5,4)} 50
TR

a){l, 4} b) {8.5} (.5 d{L5)}

10)Ifx X y={(5,6),(5,2),(5,3)} 50 : n(x) = ....

a) 1 b)5 c)2 d){5}

11) n(x) =3, n(x X y) = 6 ,50: n(y) = ....

a) 4 b) 8 c)2 d) 6

12)If n(x X y) =6, x = {3} ,50; n(y) = ....

a) 4 b) 1 c)2 d) 6

13)Ifn(x Xy)=8,y={3, 2} ,50: n(x) =...

a)4 b) 8 c)2 d) 6
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1H)If n(x X y) =6, n(x*) =4 ,50: n(y*) =....
a)9 b) 8 ¢) 2 d) 6
16)If x={3,5},y={1,2}s0(3,1)€.........

)X X Y b) Y2 )X2 d)Y XY
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